What is Output Linearization? (For the elemetary hues, see CIE R1-47:2009
The colour space of a double cone includes 6 colours. The six colours can be|f
device-dependent device colours (index(R):Y, G, B, N, W)

or the device-independent elementary colours (indefRe)Y, G, B, N, Wa.
Elementary red appears neither yellowish nor bluish. The hue arglgds 26.

For example for theRGBcolours according to IEC 61966-2-1 it is valid:
Device red Rd has the coordinategb*rq andLCh*rg=(L*, C*ap, hab)Rd
Elementary redRe has the coordinategb*re andLCh* re=(L*, C*ap, hab)Re
Corresponding data are given in the followingRgt Re, andW=Wq=We

rgbw = (111w rgb*rd = (1 0 ORgd
LCh*W=(L*, C*ap, hap)w = (95, 0, )y ~ LCh*rd = (50, 100, 4Qd

rgbre = (1 0 ORe

LCh*re = (50, 87, 263e
Output Linearization of CIE R1-09:2015
produces for the hue andigh,re= 26
the CIELAB data.*re = 50andC*ap,Re = 87
These CIELAB data are produced with the
device to elementary input data (de)
rgbde,Re= (1 0 0,269¢ Re
A calculated table for 360 hue angles inclug
hao LCh*ge rgbde
26 508726 100,26
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